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Topic: Addition & Subtraction

Early Years Foundation Stage

< /£t >

Children in Reception will:

Stem sentence/ Maths talk

4 is a part, 3 is a part, 7 is the whole., One more than ___is___. Adding one more to gives us . Adding two to an odd number gives us the next
odd number. Adding two to an even number gives the next even number. When 0 is added to any number, the number remains unchanged.
Doubling a whole number always gives an even number.

- Count objects, actions and
sounds

- Subitise

Notes /
Vocabulary

Concrete

Pictorial

Abstract

- Link the numeral with its
number value

- Count beyond ten

Start with 1, 2, 3

Then 4 & 5 including 0
6,7,8Then9 & 10
Use in continuous
provisions and outdoor
provisions.

Representing
Children use concrete objects which
they can count or subitise.

So O ¥ 3maebe

Children can match picture cards to
abstract numbers for 1, 2, 3

DG

Children can mark make and start to
recognise the abstract to the concrete
and pictorial.

- Compare numbers

- Understand the ‘one more/
one less’ relationship between
consecutive numbers.

Children begin to
understand that as we
count each numberis 1
more than the number
before.

Use stories and songs
which count on and back.

Comparing
Use loose parts for children to build
their own one more/one less patterns.

8@ 0 e

Use picture card games. Asking the
children to pick a card and see who has
more and who has less.

%

Ordering numbers based on matching
the pictorial with the abstract. Can
combine the two.

- Explore the composition of
numbers to 10

- Automatically recall number
bonds 0-5 and some to 10

Early Learning Goals

Introduce the idea that all
numbers are made up of
smaller numbers

Composition

Use concrete resources and part-whole
models to show that 3 can be made in
different ways.

slifss]-?

Picture representations represented in
different ways

w0

Introducing the concept of + and =
1+2=3
2+1=3

- Have a deep understanding
of numbers to 10, including
the composition of each
number

- Subitise(recognize quantities
without counting) up to 5.

- Automatically recall (without
reference to rhymes. Counting
or other aids) numbers bonds
up to 5 (including subtraction
facts) and some number
bonds to 10, including double
facts




Topic: Addition

Year 1

Stem sentence/ Maths talk

4 is a part, 3 is a part, 7 is the whole.

One more than ___is_

Addingone moreto _ givesus

Adding two to an odd number gives us the next odd number.
Adding two to an even number gives the next even number.

Doubling a whole number always gives an even number.

When 0 is added to any number, the number remains unchanged.

i)

>

Year group
objectives

To read, write and interpret
mathematical statements
involving +, - and =

To represent and use number
bonds and related facts
subtraction facts within 20.

Fact Families
establishing that

w v

3+4=7 Important for children to find different
4+3=7 combinations for making parts and
7=4+3 wholes within a set number of
7=3+4 resources.

Here are some frogs.
Can you see two groups of frogs?
How many frogs are in each group?
Complete the sentences.
___ isapart.
__ isapart.

The wholeis —

3+4=7(7=3+4)
3is apart, 4is a part
7 is the whole.

Notes / Concrete Pictorial Abstract
Vocabulary
Parts, whole, addition, Identifying parts and wholes (using a 4+3=7 (7=4 +3)
sum, total, addition range of different resources). 4 is a part, 3 is a part
add, more, and make, R 7 is the whole. ‘
sum, total altogether. ' +

To add and subtract one-digit
and two-digit numbers to 20,
including zero.

To solve one-step problems
that involve addition and
subtraction, using concrete
object, pictorial
representations, and missing
number problems such as 7 =
?-9

Number bonds, tens
frame, numicon,

kR

0= 1+9 248 3+7 4+6

Systematic number bonds to 10

BB@C@' {U?

Use tens frames, counters, cubes,
numicon, fingers etc. Include zero.

10

Use bar models and part-
whole models systematica..,

0+ =10
1+ =10
2+ =10
3+ =10
4+ =10
5+ =10

10=5+___
10=6+___
10=7+___
10=8+__
10=9+_
10=10+___

Show statements with equal signs in

different places




Topic: Addition

Year 1

<6 >

Adding more, counting

on, jumps, number line.

Adding more (use cubes, counters,

numicon)

2’!2&21&.

0123456781910

Use a bar model to encourage the
children to count on.

?

Using an abstract number line

Ve

“ 5 6

What is 2 more than 4? What is the sum
of 2 and 4? What is the total of 2 and 4?
4+2=6

Year group
objectives

Numicon, tens frame

Use application of
number bond facts to
support. If | know that
5+5=10, then | know
that6 +5=11.11 s
one more than 10.

Addition up to 20

(by using a tens frames and counters,

cubes or numicon)
6+5=11

00000
006000

ST

Children to draw counters within the

tens frame.
® & o

Children to develop understanding of

equality.
6+__ =11 11=5+__
6+5=5+__ 6+5=__+4

Use missing values to pattern seek
11=6+5,11=7+4,11=8+3,11=9+2

To read, write and interpret
mathematical statements
involving +, - and =

To represent and use number
bonds and related facts
subtraction facts within 20.

To add and subtract one-digit
and two-digit numbers to 20,
including zero.

Example arithmetic questions

3+5=__

=1+8

2+8=

14 + 3

12 +5=

=20+0

To solve one-step problems
that involve addition and
subtraction, using concrete
object, pictorial
representations, and missing
number problems such as 7 =
?-9




Topic: Addition

Year 2
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Stem sentence/ Maths talk

There are and

and . Altogether there are

When we add three numbers, the total will be the same whichever pair we add first.
If you change the order of the numbers, the sum remains the same.

Year group
objectives

To use concrete objects and
pictorial representations,
including number, quantities and
measure.

To apply increasing knowledge of
mental and written methods

First | partition the , plus is equal to . Then plus is equal to 10. ...and then then plus is equal to .
____is one more than . is equal to plus one. plus one is equal to .
| know that ___ plus is equal to . ...SO plus isequalto .
Notes / . :
Concrete Pictorial Abstract
Vocabulary
Tens, ones, partition, Partitioning two-digit numbers into 80+4=84 80+ =84
place value, base ten, tens and ones 20+5=25 20+ =25

To recall and use + and — facts to
20 fluently and derive and use
related facts up to 100

To add and subtract numbers
using concrete objects, pictorial
representations, and mentally,
including:

- Atwo-digit number and ones
- Atwo-digit number and tens
- 2 two-digit numbers

- 3 one-digit numbers.

place value counters. Tens Ones e Introduce written method adding
OO0 multiple of ten and ones together.

Be explicit with place III - ° T o

value when moving Be explicit with PV

onto written methods, g 0o When explaining.

including using zero as Tens Ones 25 . 0 ones + 4 ones =4 ones

a place holder. oooo 4 8 tens + 0 tens = 8 tens

20 5 3 4 8tens=80 4ones=4
80+4=84

Formal written methods Adding two-digit number and ones and | Children can draw their own 54 +5=__ 54 + 40 =

without regrouping. tens representations. Embed PV knowledge. T (o T o

Encourage children to Tens _ i:t | e om > Tens ones Ters Ores 5 4 5 4

count on mentally and IIIII IIIII (. Y:1:]: ) 0000

apply knowledge of | + * 4 0

number bonds. o000 IIII 3000

To show that addition can be
done in any order (commutative)
and subtraction cannot.

To recognise and use the inverse
relationship between + and — and
use this to check calculations and
solve missing number problems.




Topic: Addition

Year 2

<6 >

Formal written
methods without
regrouping.

Encourage children to

Adding two, two digit numbers

Tens Ones

IIII \:‘/\
“

Children can draw their own frames.

Tens Ones

Explicit when modelling
1 ones + 7 ones = 8 ones

4 tens + 1 ten =5 tens

Year group
objectives

To use concrete objects and
pictorial representations,
including number, quantities and
measure.

To apply increasing knowledge of
mental and written methods

To recall and use + and — facts to
20 fluently and derive and use
related facts up to 100

count on mentally and DR >tens=50  8ones=8
apply knowledge of I gggo 50+ 8 =58
number bonds.
Addition, subtraction, Using inverse to check missing number Use bar model or missing part —whole 30+__ =75 4
opposite, inverse, problems models __+22=55
parts, whole, bar e +
model, place value. 80=40+

25 ? 36=__+16 8
Ones, counters parts, Adding three, one-digit numbers 3+42+4=9
whole, altogether, together 4+3+5=12

counting on.

Progress to missing numbers
3+__+4=9
4+3+ =12

To add and subtract numbers
using concrete objects, pictorial
representations, and mentally,
including:

- Atwo-digit number and ones
- Atwo-digit number and tens
- 2 two-digit numbers

- 3 one-digit numbers.

Example arithmetic questions from KS1 SATS

5+10+5 =

98 + 4 =

5+ 32=

22 + 22

+8=12

= 68 + 20 =

To show that addition can be
done in any order (commutative)
and subtraction cannot.

To recognise and use the inverse
relationship between + and — and
use this to check calculations and
solve missing number problems.




Topic: Addition

Year 3
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Stem sentence/ Maths talk

There are ten tens in one hundred.
There are one hundred ones in one hundred.
___ones/tens/hundreds plus/minus ones/tens/hundreds is equal to ___ones/tens/hundreds

If | have ones, | can exchange them for ten and ones.

If I have tens, | can exchange them for hundred and tens
| will exchange 1 hundred for tens, then 1 ten for ones.

Year group
objectives

Add whole numbers with up
to 3 digits, including using
formal written methods

There are hundreds ___ tensand ___ ones. The answeris
Notes / L
Concrete Pictorial Abstract
Vocabulary

addition add, more, and
make, sum, total
altogether double near
double half, halve one
more, two more ... ten
more ... one hundred
more, inverse

Use of place value
counters to add HTO +
TO, HTO + HTO etc. once
the children have had
practice, they should be
able to apply it to larger
numbers and the abstract

Use of place value counters

Use of a place value grid and drawn

images

0
000

o000

000
o0 o

00
©CO0

OOOO‘

243

+368
611

1 1

Add numbers mentally
including-

3 digit number and ones

3 digit number and tens

3 digit number and hundreds

Estimate the answer to a
calculation and use inverse
operations to check answer.

Solve addition problems
including missing number
facts, place value and more
complex addition.




Topic: Addition

<6 >

Year 3
Notes / . . Year grou
Concrete Pictorial Abstract . 8 . P
Vocabulary objectives
Mental strategies and
inverse operations Use place Valu.e COL.JnterS' What could the missing digits be? :
involving fact families. | OF represent pictorially. Add whole numbers with up
Part whole models to to3 dIgItS., including using
support. Hundreds |lens One 537 81 HToO formal written methods
4 3 Add numbers mentally
Add three numbers @@ @ + 1 5 including-
together ©) ® ®) 3 digit number and ones
eg 243 +341 +98 = 6 8 3 digit number and tens
® o .. 3 digit number and hundreds
©) ©) ® ® Estimatg the answer to a
calculation and use inverse
ti to check .
7 9 6 Building up known facts and using e L)
them to illustrate the inverse and Solve addition problems
to check answers: including missing number
i facts, place value and more
98 +18=116116—-18=98 complex addition.
18+98=116 116 -98 =18
. 269
Example questions 710+ 1= 20+4+4 = 134 + 61 = 34+7?=172

+

412




Topic: Addition

Year 4

~
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Stem sentence/ Maths talk

There are ten hundreds in one thousand.
plus plus the 1 that | exchanged from the last column equals
When rounding to the nearest thousand, the hundreds digit is the one we need to consider.
When rounding to the nearest hundred, the tens digit is the one we need to consider.
When rounding to the nearest ten, the ones digit is the one we need to consider

There are one hundred tens in one thousand.

There are one thousand ones in one thousand.

Year group
objectives

Add whole numbers with up
to 4 digits, including using
formal written methods.

numbers in context — using
money.

Include examples that exchange in
ones, tens and hundreds and in more
than 1 column.

Estimate and use inverse
operations to check
operations to check answers
to a calculation.

Solve addition 2 step
problems in context

Solve addition problems
including missing number
facts, place value and more
complex addition.

column.

Notes / L
Concrete Pictorial Abstract
Vocabulary
addition add, more, and Children continue to use dienes or Use of a place value grid and drawn
make, sum, total altogether | place value counters to add, images o
double near double half, exchanging ten ones for a ten and ten th t |ones TTolals
halve one more, t"‘;c’ MOre | tens for a hundred and ten hundreds ©0 foo [veo Qo 257
.r.ﬁ:: rir:\)/reers.é one hundred for a thousand. o 9 o0 3(2(02
) 0
m|u |71 [ o ° 9dg 0%’ BE Th Y
Use of place value counters gg 88 88 %D 5 l q 7 | g
to add THTO + HTO, THTO + o000
THTO etc. once the children O + 4 213]7
have had practice, they o 000 (o0 q
should be able to apply it to (oo 1o, 00 th t [ones '
larger numbers and the -?CT Q0 Nt
abstract / o0 AIEAL m N
6 O{ Include examples that exchange in
Addition of decimal | i ones, tens hundreds and in more than 1




Topic: Addition

<6 >

Year 4
Notes / . .
Concrete Pictorial Abstract
Vocabulary

Mental strategies and Use place value counters or represent 9.251 2,417 + 6,834 = 9,251
inverse operations pictorially. ’
involving fact families. Use place value equipment on a place 2,417 6,834 6,834 + 2,417 = 9,251
Part whole models to value grid to organise thinking.

° s & - 9,251 — 2,417 = 6,834

support.

Ensure that children understand how the
columns relate to place value and what
to do if the numbers are not all 4-digit
numbers.

6,834 @

9,251 — 6,834 = 2,417

Year group
objectives

Add whole numbers with up
to 4 digits, including using
formal written methods.

Use rounding and
estimating to find
answers.

Pupils must choose the
most efficient method
for addition — number
lines, mentally or
column method.
Recognise that
guestions such as
2001 + 3400 are solved
more efficiently with
mental methods rather
than column method,

Use place value counters or represent
pictorially.

Use place value equipment on a place
value grid to organise thinking.

Ensure that children understand how the
columns relate to place value and what
to do if the numbers are not all 4-digit
numbers.

Bar models may be used to represent
additions in problem contexts, and to
justify mental methods where

appropriate.
Eg 799 + 574

Th F

Moving to...

- ol | —

o

ST

wi | = 0|0

912 +6,149 =7

| used rounding to work out that the

answer should be approximately 1,000 +
6,000 = 7,000.

Rounding and adjusting
| chose to work out 574 + 800, then

subtract 1. e e

« 7 38 M

Estimate and use inverse
operations to check
operations to check answers
to a calculation.

Solve addition 2 step
problems in context

Solve addition problems
including missing number
facts, place value and more
complex addition.

Example questions 3005 + 1000 =

2200 + 500 =

_ +110=450

3452 + 5230 <or>or= 2872+ 7098

8998 + 2419 =
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Topic: Addition vears

Stem sentence/ Maths talk

The sum of the known parts is equal to the whole.

Ten one thousands make ten thousand.

One hundred hundreds make one thousand.

Ten ten thousands make one hundred thousand.

One hundred one thousands make one hundred thousand.

Year group
objectives

is the whole so and are the parts.
The sum of the known parts is equal to the whole

Add whole numbers with
more that 4 digits, including
using formal written methods

Notes / . . Add numbers mentally with
Vocabulary Concrete Pictorial Abstract increasingly large numbers
Use rounding to check
addition add, more, Use place value counters or represent answers to calculations and
and make, sum, total pictorially. determine, in the context of
altogether double near | Use place value equipment on a place A54E3 : 31310 problems, levels of accuracy
double half, halve one value grid to organise thinking. +2  +30 +600 |- 17 — _
more, two more ... ten Ensure that children understand how the W * : 3 5 g g f SOI\:)EI addl.tlon multi-step
more ... one hundred columns relate to place value and what 5308 5070 5400 6000 Toh00 131661 e g — Zro'd?ms l;.czntEX:S,t. i
more inverse to do if the numbers are not all 4-digit 111 eciding which operations
numbers. ol I e and methods to use and why

+
WO | W
o)) O, I
N | O
~lInN N
Ol |Ww




Topic: Addition /&>

Year 5
Notes / . . Year grou
Concrete Pictorial Abstract . & . P
Vocabulary objectives
Starting to add T | F =  dradie ' [ [ ’
::(C:Ihmnalink};uetr?\r;?tﬁzen @ ‘ OOO H®® QQQ 3 6 5 Add whole numbers with
same nu mber of i @ (o) (@) (e QQ + 244 |1 more that 4 digits, including
. ! 22 — g 640 | 6 using formal written methods
decimal places , s % OO ()() () @
= ' P~ ' Add numbers mentally with
\ 7, / RS v . .
~ Q\ - O 436 4 increasingly large numbers
S / e ' + 5 9.8 Use rounding to check
. S/ 4 9 5.2 answers to calculations and
1 1

determine, in the context of

Counters will support pupils with problems, levels of accuracy

the process of exchanging. It will Solve addition multi-step

also help with discussions around
language ‘tenths’ ‘hundredths’.

problems in contexts,
deciding which operations
and methods to use and why




Topic: Addition

Year 6
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Stem sentence/ Maths talk

Addition/ Subtraction General
If one addend is increased by an amount and the other addend is decreased by the same amount, the sum remains the same.
If one addend is changed by an amount and the other addend is kept the same, the sum changes by that amount. If you have
increased or decreased the minuend and subtrahend by the same amount, the difference stays the same.

Year group
objectives

Solve addition and
subtraction multi-step
problems in contexts,
deciding which operations
and methods to use and why

add, more, and

make, sum, total
altogether

double

near double

half, halve

one more, two more ...
ten more ... one hundred
more

Number with more than 4
digits

Decimal numbers with
different numbers of
decimal places.
Multistep problems

including different numbers of decimal
places.

Use of place value counters to add
different decimal values

oW a
o0 o1+ v o0e@
*  \ary the number of digits in

the number

* =sign on the RHS
+ Balanced equations

247 + 14,699 =

?7=6.9+14.32

the image below.

0
00 o
[

Notes / L
Concrete Pictorial Abstract
Vocabulary
addition 4 or more digits add 4 or more digits Children can represent the counters like

Children must line up the digits in
correct place columns. A 0 can be used
to fill any empty columns.

21.201+1.11

21.201
+ 1.110

Use their knowledge of the
order of operations to carry
out calculations involving the
4 operations

Perform mental calculations,
including with mixed
operations and large numbers




SAT Questions Year group
Arithmetic objectives

1,034 + 586 = 2.5+ 0.05 =

Reasoning

Write the four missing digits to make this addition correct.
Write the missing digits to make the addition correct.

Write the missing number.

One is done for you.
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Finding 1 Taking away Counting back. | Column method | Column method | Column method | Column method
less. ones. Find the with regrouping | with regrouping | with regrouping. | with regrouping.
Working Counting back. | difference. (up to 3 digits). | (up to 4 digits). | (with more than 4 | (Decimals — with
within 20. Find the Part whole digits). different amounts
difference. maodel. (Decimals —with | of decimal places).
Part whole Make 10. the same amount
model. of decimal
Make 10. places).

932 - 457 becomes 032 - 457 becomes

Answer: 351 Answer: 475 Answer: 475




Topic: Subtraction
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Year 1
Stem sentence/ Maths talk
is the whole. is a part, is a part and is a part. ‘@ . 69& ?) . .
Notes / Concrete Pictorial Abstract
Vocabulary

Year group
objectives

Children develop the
core ideas that
underpin all
calculation. They begin
by connecting
calculation with
counting on and
counting back, but they
should learn that
understanding wholes
and parts will enable
them to calculate
efficiently and
accurately, and with
greater flexibility. They
learn how to use an
understanding of 10s
and 1s to develop their
calculation strategies,
especially in addition
and subtraction.

Children arrange objects and remove to
find how many are left.

1 less than 6 is 5.
6 subtract 1 is 5.

Children draw and cross out or use
counters to represent objects from a
problem.

YRR YRRY

1-0-0

There are [:] children left.

Children count back to take away and
use a number line or number track to
support the method.

D

read, write and interpret
mathematical statements
involving addition (+),
subtraction (-) and
equals (=) signs

represent and use
number bonds and
related subtraction facts
within 20

Children separate a whole into parts and
understand how one part can be found
by subtraction.

Children represent a whole and a part
and understand how to find the missing
part by subtraction.

BRONE

Children use a part-whole model to
support the subtraction to find a missing
part.

7-3=7
Children develop an understanding of

the relationship between addition and
subtraction facts in a part-whole model.

0-0-0
(> o-0-0
2 000

E-E-0

add and subtract one-
digit and two-digit
numbers to 20, including
0

solve one-step problems
that involve addition and
subtraction, using
concrete objects and
pictorial representations,
and missing number
problems suchas 7=7? -
9




Topic: Subtraction
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Year 1
Notes / . .
Concrete Pictorial Abstract
Vocabulary
More than Arrange two groups so that the Represent objects using sketches or Children understand ‘find the difference’
Less than difference between the groups can be counters to support finding the as subtraction.
Difference worked out. o ® B difference.
Efficient ) 2 'l ? 'I‘ 1 3‘ g

1331%
8 is 2 more than 6.

6 is 2 less than 8.
The difference between 8 and 6 is 2

00000
0000

5-4=1
The difference between 5 and 4 is 1

e T
N +
w +
N+
w1+
o) +
~ 4
o0 +
o+
5__

10-4=6
The difference between 10 and 6 is 4.

Year group
objectives

read, write and interpret
mathematical statements
involving addition (+),
subtraction (-) and
equals (=) signs

Understand when and how to subtract
1s efficiently.

Use a bead string to subtract 1s
efficiently.

9998898888080 OO0

5-3=2
15-3=12

Understand when and how to subtract
1s efficiently.

| my | | A | A | 2y | 2 | = | X
\8)\®)\8,\®)\8,| I\® 9 S’j \’; \’;
N ™y
®

5-3=2
15-3=12

Understand how to use knowledge of
bonds within 10 to subtract efficiently.

5-3=2
15-3=12

represent and use
number bonds and
related subtraction facts
within 20

add and subtract one-
digit and two-digit
numbers to 20, including
0

solve one-step problems
that involve addition and
subtraction, using
concrete objects and
pictorial representations,
and missing number
problems suchas 7="? -
9




Topic: Subtraction

Year 1
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Notes /
Vocabulary

Concrete

Pictorial

Abstract

For example: 18 - 12

Use ten frames to represent the efficient
method of subtracting 12.

First subtract the 10, then subtract 2.

For example: 18 - 12

Subtract 12 by first subtracting the 10,
then the remaining 2.

BRBVDE BDDD
BBBHE BDDD

First subtract the 10, then take away 2.

Use a part-whole model to support the
calculation.

19 - 14 @
19-10=9
(10) (&)

9-4=5
So,19-14=5

Year group
objectives

read, write and interpret
mathematical statements
involving addition (+),
subtraction (-) and
equals (=) signs

For example: 12 -7

Arrange objects into a 10 and some 1s,
then decide on how to split the 7 into

Represent the use of bonds using ten
frames.

00000 890

parts.
XX

BNENENRNRN

7 is 2 and 5, so | take away the 2 and
then the 5.

For 13 -5, | take away 3 to make 10,
then take away 2 to make 8.

Use a number line and a part-whole
model to support the method.

13-5

-2 -3

5 6 7 8 9 10 I 12 I3

represent and use
number bonds and
related subtraction facts
within 20

add and subtract one-
digit and two-digit
numbers to 20, including
0

solve one-step problems
that involve addition and
subtraction, using
concrete objects and
pictorial representations,
and missing number
problems suchas 7 =7 -
2




Topic: Subtraction
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Year group objectives

solve problems with addition
and subtraction: using concrete
objects and pictorial
representations, including those
involving numbers, quantities
and measures

Year 2
Stem sentence/ Maths talk I need to subtract to get to 10 ;f\fhen sulbrt]ructing. the answer will be than the number
start with.
I can partition into and
- *+______ _=10,5010-__=______
I need to subtract more.
less than is 10 - - - then B -
Notes / Vocabulary Concrete Pictorial Abstract

The use of concrete resources
such as ten frames and
counters,

base 10 and Rekenreks can
support children in choosing
the most efficient way to
partition the 1-digit number
they

are subtracting and can also
aid their understanding. Other
representations, such as
number lines for representing
calculations and part-whole
models for partitioning, are
also

useful throughout. All of these
will support children as they
start

to move towards a mental
strategy for subtracting across
a 10.

Use known number bonds and
unitising to subtract multiples of 10.

CECY 8- 88881

I

8 subtract 6 is 2.
So, 8 tens subtract 6 tens is 2 tens.

Use known number bonds and unitising
to subtract multiples of 10.

( 100 |
l 0 |
10-3=7
So, 10 tens subtract 3 tens is 7 tens.

Use known number bonds and
unitising to subtract multiples of 10.

Sheb

7 tens subtract 5 tens is 2 tens.
70-50=20

applying their increasing
knowledge of mental and
written methods

recall and use addition and
subtraction facts to 20 fluently,
and derive and use related facts
up to 100

Subtract the 1s. This may be done in
or out of a place value grid.

rJ

10 @ [ Jh S - T

V| agbgbgb

T O

e o=
10 @@ - g T
10 @ ¢¢¢

Subtract the 1s. This may be done in or
out of a place value grid.

R RCEC RS
SFIFH
i (@)
I
®o®
o ¥

Subtract the 1s. Understand the link
between counting back and
subtracting the 1s using known

T O
bonds. =5
9-3=6 _ 3
39-3=36 3 6

1 1 ! 1 1 1 1 1 Il ! 1

30 31 32 33 34 35 36 37 38 39 40

add and subtract numbers using
concrete objects, pictorial
representations, and mentally,
including: a two-digit number
and 1s

a two-digit number and 10s

2 two-digit numbers

adding 3 one-digit numbers

show that addition of 2 numbers
can be done in any order
(commutative) and subtraction
of 1 number from another
cannot

recognise and use the inverse
relationship between addition
and subtraction and use this to
check calculations and solve
missing number problems




Topic: Subtraction </ >

Year 2 -
Year group objectives
Notes / e —
. . problems with addition
Vocabulary Concrete PICtOI’Ial AbStraCt and subtraction: using concrete

Bridge 10 by using known bonds and

Use pictorial representations of the same

Bridge 10 by using known bonds.

objects and pictorial
representations, including those

tens frames. concept. 24 -6=7? involving numbers, quantities

- - 2 —4-2=7 and measures

00 00 00 o 00 (00 e0  se ST . - .

oo 00 00 o oo 00 00 o applying their increasing

:: :: :: [ ] :: :: :: [ ] W—\ knowledge of mental and

I e R e written methods
CICHCIC G CICNCIC NG ) 6 17 18 19 20 21 22 23 24 25 26
recall and use addition and

35-6

| took away 5 counters, then 1 more.

subtraction facts to 20 fluently,
and derive and use related facts
up to 100

Exchange 1 ten for 10 ones. This may T 0 T (O)
be done in or out of a place value grid '7|'s add and subtract numbers using
with base 10. y 2 Z® _ 7 concrete objects, pictorial
= 5 3 representations, and mentally,
. D including: a two-digit number
\|1\ T (T O and 1s
o) o lorlls a two-digit number and 10s
T y | . 2 two-digit numbers
<§ T3 adding 3 one-digit numbers
o —— show that addition of 2 numbers

can be done in any order
(commutative) and subtraction
of 1 number from another
cannot

recognise and use the inverse
relationship between addition
and subtraction and use this to
check calculations and solve
missing number problems




Topic: Subtraction

Year 2

< /£t >

Notes /
Vocabulary

Concrete

Pictorial

Abstract

Year group objectives

Subtract the 10s and the 1s.
This can be represented on a 100
square with counters.

l12(3|4|5|6|7 8|9]l10

211314151617 ]18|19]20
21 (2223 |24(25|26|27 |28 29|30
31 (32]33|34(35|36|37|38|39 |40

41 [42]43 444546 |47 [48 |49 50

51 |52 |53|54|55|56|57||58 59|60
6l (62|63 | 64| 65|66 |67 68|69 |70
7117273 |74(75|76|77 78|79 |80
8l (82|83 |84|85|86|87|88 89|90
9l |92|93|94|95|96|97|98|99/100

Téns Cwix

0000

Subtract by taking away.

61 - 18
| took away 1 ten and 8 ones.

OOO000000O0OO
0)0]0]0]0]0]0]0]0]e,
QO0OOO0QO0O0
0)0]0]0]0]0[0]0]0]e,
O10)0) %))} %}%9)9}%)
g@'@'@'@@'@'@'@'@'

This can be represented on a number line.

-10 -10 -10 -10 -
¥ Y Y Y Y
23 33 43 53 63 64
64-41=2
64-1=63
63 -40=23
64 — 41 = 23

-5 -10 -10
A 26 36 46
46 -20=126
26-5=21
46 -25=21

solve problems with addition
and subtraction: using concrete
objects and pictorial
representations, including those
involving numbers, quantities
and measures

applying their increasing
knowledge of mental and
written methods

recall and use addition and
subtraction facts to 20 fluently,
and derive and use related facts
up to 100

Use real objects if available. Subtract
the 1s. Then subtract the 10s. This may
be done in or out of a place value grid.

T O

DO
@@

38 -16=22

Subtract the 1s. Then subtract the 10s.

Tens Ones

Ty

add and subtract numbers using
concrete objects, pictorial
representations, and mentally,
including: a two-digit number
and 1s

a two-digit number and 10s

2 two-digit numbers

adding 3 one-digit numbers

show that addition of 2 numbers
can be done in any order
(commutative) and subtraction
of 1 number from another
cannot

Using column subtraction, T (O)
subtract the 1s. 415
Then subtract the 10s. -1 ]2
_ 3
T)O
415
—1]2
3)3

recognise and use the inverse
relationship between addition
and subtraction and use this to
check calculations and solve
missing number problems




Topic: Subtraction

Year 2

<6 >

Notes /
Vocabulary

Concrete

Pictorial

Abstract

Year group objectives

Use base 10 to explore the exchange.

45 -27 =?

Tens Ones
g § g § P98
Tens Ones
3 & 29099

P99
P99 9

Tens Ones
8 8 2eQee
CRCRCRR ]
RRRRN

Tens Ones
v 3 29999
CRCNCRR ]
; RRWMRW

Exchange 1 ten for 10 ones. Then subtract
the 1s. Then subtract the 10s.

Tens Ones

i

Using column subtraction, exchange 1 ten

for 10 ones. Then subtract the 1s. Then

subtract the 10s.

45-27="7
? +27 =45

solve problems with addition
and subtraction: using concrete
objects and pictorial
representations, including those
involving numbers, quantities
and measures

1 (5) applying their increasing

2 7 knowledge of mental and
written methods

T O recall and use addition and

% 5 subtraction facts to 20 fluently,

2 7 and derive and use related facts
up to 100

T O add and subtract numbers using

¥ 5 concrete objects, pictorial

2 7 representations, and mentally,

) including: a two-digit number

and 1s

T O a two-digit number and 10s

A5 2 two-digit numbers

? ; adding 3 one-digit numbers

show that addition of 2 numbers
can be done in any order
(commutative) and subtraction
of 1 number from another
cannot

recognise and use the inverse
relationship between addition
and subtraction and use this to
check calculations and solve
missing number problems




Topic: Subtraction

Year 3

<6 >

Stem sentence/ Maths talk

There are ten tens in one hundred.

There are one hundred ones in one hundred.
____ones/tens/hundreds plus/minus ones/tens/hundreds is equal to ___ones/tens/hundreds
If lhave ___ tens, | can exchange them for __ ones.

If  have ___ hundreds, | can exchange them for ___tensand ___ ones

| will exchange 1 hundred for ___tens, then 1 ten for ___ones.

Year group
objectives

Subtract numbers with up to
3 digits using formal written
methods.

There are hundreds ___tensand ___ones. The answer is
Notes / . .
Concrete Pictorial Abstract
Vocabulary

Subtraction, difference Without regrouping Once the children have had practice U

total altogether, half, Work out 760 — 147 with the concrete, they should be able 31

halve, one less, two to apply it to any subtraction. X 2

less ... ten less ... one fundreds = ore:. Like the other pictorial representations 6

. 0000|007 (Q0d . ’
hundred less, inverse OOEZ QQ;Q children to represent the counters. (

Note: stress
importance of
‘difference’ as
subtraction language
Use of place value
counters to subtract
HTO + TO, HTO + HTO
etc. once the children
have had practice, they
should be able to apply
it to larger numbers
and the abstract

With regrouping
Column method (using place value

counters) 234-88
[@ ] )
|66 000 |eses

@ | © [ ®
o |60 |eee

UUES L1

e

. Draw the Base
o L P oM gn0 e
oo (eEss SLQ value counters

-2 alongside the
R TS~ written

L 3L Gakvatonto
help to show
working

el e e .
OERG|QOWAM  vsw-
© LTS _

| 17
e

Subtract numbers mentally
including —

3 digit number and ones

3 digit number and tens

3 digit number and hundreds

Estimate the answer to a
calculation and use inverse
operations to check answer.

Solve subtraction problems
including missing number
facts, place value and more
complex subtraction.




Topic: Subtraction

< /£t >

Year 3
Notes / Concrete Pictorial Abstract Yeafr gr.oup
Vocabulary objectives

Mental strategies and
inverse operations

involving fact families.

Use place value counters,
or represent pictorially.

What'’s the calculation?

What'’s the answer?

Subtract numbers with up to
3 digits, including using
formal written methods

Subtract mentally including-
3 digit number and ones

3 digit number and tens

3 digit number and hundreds

Estimate the answer to a
calculation and use inverse
operations to check answer.

Solve addition problems
including missing number
facts, place value and more
complex addition.

Part whole models to s g“gs @5”5@ s Ones
S ort.
upp nHRN 000
0 (GOL®
OG
%
3 9
391 _ 4
] o s
Building up known facts and using
them to illustrate the inverse and
to check answers:
116 -18=98 98 +18=116
116 -98 =18 18 +98-116
Example questions 600—-1= 231-100-= 973 -19 = 500-7? =350 I

419




Topic: Subtraction

Year 4

Stem sentence/ Maths talk

There are ten tens in one hundred.

There are one hundred ones in one hundred.
___ones/tens/hundreds plus/minus ones/tens/hundreds is equal to ___ones/tens/hundreds
If have ___ tens, | can exchange them for ____ ones.

If | have hundreds, | can exchange them for tens and ones

| will exchange 1 hundred for ___tens, then 1 ten for ___ ones.

<6 >

Year group
objectives

Subtract numbers with up to
3 digits using formal written
methods.

There are hundreds ___ tensand ___ ones. The answeris
Notes / L
Concrete Pictorial Abstract
Vocabulary

Subtraction, difference o8 @;9 ——— Use place value grids to support 2754 — 1568 = 1186 lLH
total altogether, half, 2232 3572 -1221 = h T Tores 2%54
halve, one less, two : - Oople ool2SS, [od -
less ... ten less ... one ole e M 4 N 1568
hundred less, one 21315 1186
thousand less, inverse ¢ e e Use of decimals in context (money)
Note: stress m T men 2343 — 151 y
. 0|02 00|00 :
importance of ool g4 s
IR ’ @l Th H T a ones '
e e e || G | [seoR godens o b Eae 7

guag 000888 | 2951-2543=  [YOh JHIWUHT |y 818.8
Use of place value ék 200 \—H\ﬂ i _
counters to subtract 3206 - 2148 ) %@@ gl i Include examples that exchange in ones
THTU = TU and THTU - P & ’

HTU before moving to
THTU — THTU and the
abstract.

Pupils to move to
multiple exchanges

Make exchanges across more than one
column where there is a zero as a place
holder.

519 |2

tens hundreds and in more than 1
column.

Subtract numbers mentally
including —

3 digit number and ones

3 digit number and tens

3 digit number and hundreds

Estimate the answer to a
calculation and use inverse
operations to check answer.

Solve subtraction problems
including missing number
facts, place value and more
complex subtraction.




Topic: Subtraction

<6 >

Year 4
Notes / . . Year grou
Concrete Pictorial Abstract . 8 . P
Vocabulary objectives
Mental stratefies and Use p|ace value counters, ghil_dreT co?p:]ete subtrac’fcio(;\? invol\(/jing
inverse operations 2 BGD ' ecimals which are presented in wor Subtract numbers with up to

involving fact families.
Part whole models to
support.

Pupils must choose the
most efficient method
for addition — number
lines, mentally or
column method.

or represent pictorially.

Use inverses to check calculations

problem format. They use zeros for
place holders and know that decimal
points should line up under each other.

Bella spends £2.56 in the shop out of
her £5 note pocket money.
How much change will she receive?

3 digits using formal written
methods.

Subtract numbers mentally
including —

3 digit number and ones

3 digit number and tens

3 digit number and hundreds

Estimate the answer to a
calculation and use inverse
operations to check answer.

Solve subtraction problems
including missing number
facts, place value and more
complex subtraction.

Recognise that 3182 Checking word problems by using
questions such as 2,853 + 309 = 3,142 _ inverse

5623 - 1200 can be Mr Roze has £2,358 in his bank occount.

solved more efﬁciently He spends £1,209 on a family holiday.

with mental methods How much does he have left? £ 1,049
rather than column

method.

Example questions 250-25-25= 9000 - 500 = 700 - ? =280 5,018

- 2,046




Topic: Subtraction
Year 5

<6 >

Stem sentence/ Maths talk

The whole minus the two main parts is equal to the missing part.

If we know the value of the whole and all but one of the parts, we can find the missing part.
The more we subtract, the less we are left with.

The less we subtract, the more we are left with

If a known whole is split into three parts and we know the value of two of them, we can find the missing part.

Year group
objectives

Subtract whole numbers with
more that 4 digits, including
using formal written methods

Subtract numbers mentally
with increasingly large
numbers

between inverse

Use rounding to check

answers to calculations and
determine, in the context of
problems, levels of accuracy

Solve subtraction multi-step
problems in contexts,
deciding which operations
and methods to use and why

| can exchange one for ten
The minuend is the whole. The subtrahend is a part. The difference is a part.
Notes / L
Concrete Pictorial Abstract
Vocabulary
how many more to
make ...? how many 4
more is ... than ...? how Ih | Th | H - T(. 9 é 11 813 4
much more is ...? OOg %%}%J%% 32 7 4
subtract take away © 00 241638
exchange how many o KQ@ 282|160
are left/left over? =Y Vi3, ? 7
how many have gone? &4 ?Z
one less, two less, ten s 0 9
less ... one hundred less 2 8 2 6 0 4 55
how many fewer is ... 4 3|10(2 6
than ...? how much less
is ...? difference 06 5133




Topic: Subtraction

i)

>

Year group
objectives

Subtract whole numbers with
more that 4 digits, including
using formal written methods

Subtract numbers mentally
with increasingly large
numbers

Use rounding to check

answers to calculations and
determine, in the context of
problems, levels of accuracy

Solve subtraction multi-step
problems in contexts,
deciding which operations
and methods to use and why

Year 5
Notes : .
/ Concrete Pictorial Abstract
Vocabulary
Starting to subtract Counters will help with place value 05 1 \ﬁ ,
decimals but only when rids. : F Y 4 L2
each number has the g ‘[\‘/—\% o T Bkk& 5
same number of T— 24| 29 - 2 4 5-3 - 24.7
decimal places @ b ‘ 1 1=29 R 318.8
5T o , 29 -(05 =[24] ——
/ S / :
| N
B 375.5
=
O Sty
> . ? 14.3
. S
Thousan s Hunu ed: T O ‘i““ Tenths Hundredihs
XDS %035

1000s 100s 10s 1s 5 0.1s 0.01s

Example questions
ped 10,348 - 458 = 36 342

123 502 - 98 624 =

- 27 838

980 000 - 450 000 =

23005-7=210086




Topic: Subtraction /&>

Year 6
Stem sentence/ Maths talk Year group
For a question where the whole is split into three parts and two of the values are known. The sum of the two known parts plus the objectives
missing part is equal to the whole. For a question where the whole is split into three parts and two of the values are known. The
whole minus the two known parts is equal to the missing parts.
solve problems involving
Notes / _ , - ;
Concrete Pictorial Abstract addition, subtraction,
Vocabulary multiplication and division
how many more to Use place value resources with a place solve adfiition an.d
make ...? value grid to help pupils explore the 487.3 sub;:actlo.n mul'Ecl-sttep
how many more is ... . : problems in contexts,
than .2 Y proness; ost:JbtlracTtlng ar:)d ex‘ihf‘r:hg'”g' ? 290 deciding which operations
how much more is ...? AL @e@ = ;s =5 and methods to use and why
subtract °© 18 [o8 |33 1 perform mental calculations,
take away o 8 : 2% oy 23‘&%31 8 including with mixed
how many are left/left . 57\3\0 ' operations and large numbers
over? 0| O
® -
how many have gone? @ .z %8 - 608 1867.3
one less, two less, ten 8 ® OO 5 1 22 1 1 6 4 5

less ... one hundred less
how many fewer is ...
than ...?
. Vary the nl;rn-blr af;cligits_in
the number

*  Missing boxes
* Balanced equations

15.743 - 2149 =

?—200 = 2,307




Example SAT questions Year group
objectives

Arithmetic

50,000 - 500 =

A pack of paper has 150 sheets.

4 children each take 7 sheets.

Reasoni ng How many sheets of paper are left in the packet?




a linill <

Early Years || Year1 Year 2 ” Year 3 ’ﬁ Year 5 Year 6
Multiplication Doubling. Doubl iﬁg. Counting in Column Column Column
Counting in Counting in multiples. multiplication. | multiplication. multiplication.
multiples. multiples. Repeated (2and 3digit | (Upto 4 digit (Up to 4 digit
Arrays (with Repeated addition. multiplied by 1 | numbers numbers multiplied
support). addition. Arrays-showing | digit). multiplied by 1 or | by a 2 digit
Arrays =showing | commutative 2 digits). number).
commutative multiplication.
multiplication. | Grid method.
Short multiplication
24 x 6 becomes 342 x 7 becomes 2741 x 6 becomes
2 4 3 4 2 2 7 4 1
. 6 « 4 . 6 Long multiplication
1 a a 2 3 9 a 1 6 a4 a 24x16bzecomes 124 x126 I:zaecnmes 124::1 Eﬁzbecomes
) 71 4 2 2 4 12 4 1 2 4
Answer: 144 Answer: 2394 Answer: 16 446 x 1 6 x 2 6 x 2 6
2 4 0 2 4 8 0 7 4 4
1 4 4 7 4 4 2 4 80
3 8 4 3 2 2 4 3 2 2 4
1 1 1 1
Answer: 384 Answer: 3224 Answer: 3224




Topic: Multiplication

Year 1

<6 >

Stem sentence
Equal groups/ unequal groups

There are (number) groups/lots/sets of
(number/ item).
There are 3 groups of 5 cars.

This is not (humber) groups/lots/sets of

(number/ item) as they are not equal groups.

This is not 2 groups of 10 sweets, as
they are not equal groups.

Arrays

In this array, there is/ are (number/ item) in each
row. There is/ are (humber) rows of (humber/
items).

In this array, there are 5 oranges in each row.
There are 6 rows of 5 oranges.

In this array, there is/ are (number/ item)
in each column. There is/ are (number)
columns of (number/ item).

In this array, there are 10 cookies in each column.

There are 3 columns of 10 cookies.

Double
Double (number) is (number).
Double 5 is 10.

Twice as much as (number) is (number).

e Twice as much as 5is 10

Year group
objectives

To understand multiplication is
related to doubling

and combing groups of the
same size (repeated

addition)

Notes / L
Concrete Pictorial Abstract
Vocabulary
Double Children will double using concrete ST rl il nurmiers ] T o
Twice as much resources such as base 10, pv counters Ch!bdr‘en v;l*hearc;\ Ttt))lpal‘flf;\on a)r
Odd and numicon. numbper an _e'n FJU e eac pr‘
Even before recombining it back together.
Equal groups Double 4 is 8 16
Groups of / \
Lots of repeated D D
addition ] ] ] Ell:]l:l 10 6
l x2 I x2
doubdle 4is 8 20 - 12 - 32
4x2=8

Counting in multiples

(2s, 5s, 10s) including making
equal groups and counting the
total

To solve one-step problems
involving multiplication and
division, by calculating the
answer using concrete objects,
pictorial representations and
arrays with the support

of the teacher.




Topic: Multiplication

Year 1

Equal groups

Increase

Decrease

Skip Counting m ‘
Multiples

Grouping Children count the total in all of the

equal groups and recognise patterns.

Children will verbally say the numbers
aloud as they count to demonstrate
their understanding.

Count in multiples of a number aloud.

Write sequences with multiples of
numbers.

2,4,6,8,10

5,10, 15, 20, 25, 30

fat

>

<

Year group
objectives

Understanding arrays
Children see that 2
groups of 3 and 3
groups of 2 will both
give a total of 6.

HH

Children will use concrete objects to
describe 2 groups of 3 and 3 groups of 2.

Children will draw their own
representation of arrays or use pictures
to show their understanding.
2 groups of 4
4 groups of 2

2 groups of 5
6 groups of 10

Children will use knowledge of skip
counting and arrays to calculate
answers.

To understand multiplication
is related to doubling

and combing groups of the
same size (repeated
addition)

Counting in multiples

(2s, 5s, 10s) including making
equal groups and counting the
total

Example Questions

S1aritagoils a1arlt 916 219gnit ynem woH

OO O O L

How many children are there altogether?

7% 1% +

Fill in the numbers to describe the array.

Complete.

O D Double is
B D Double is

@ @ Double is

To solve one-step problems
involving multiplication and
division, by calculating the
answer using concrete
objects, pictorial
representations and arrays
with the support

of the teacher.
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<6 >

Year group
objectives

Stem sentence There are _2_ equal groups with 3 in each group. ——--X ----- =
Thereare _ 2 3s.
_ 3 +3 =6 e lots of --—--- =
There are ___ equal groups with _____in each group.
There are altogether.
Notes / Concrete Pictorial Abstract
Vocabulary

Equal groups,
multiply, repeated
addition,
multiplication
symbol, lots of,
arrays,
commutative, 2,3,5
and 10 times table.

Children will start to
understand that
multiplying by 2 is
doubling. They may
see that when
multiplying by an
even number the
answer will be even
but can be odd or
even when
multiplying by an
odd number.

Children make equal groups for the 2,3,5
and 10 times tables with concrete
resources and skip count. Link this to the
x ‘groups of’ ‘lots of” symbol.

5 groups of 3 equals 15
5 multiplied by 3 equals 15
5 lots of 3 equals 15

e

Doubling will be understood by using
concrete resources for two equal groups
and calculating through counting, skip
counting or repeated addition.

Children can draw groups to support
working out and either count totals, use
repeated addition or skip count.

3+ 3 +3:=°

3 groups of 3 is 9 altogether

Children can recall the 2,3,5 and 10
times tables through memory or by
counting up in steps.

Children may write down the numbers
to support themselves.

0,5,10,15,.......

Recall and use multiplication
facts for the 2, 5 and 10
multiplication

tables, including recognising
odd and even numbers

Calculate mathematical
statements for multiplication
and write them using the
multiplication (x) and equals

(=) signs

Children will be able to
represent a multiplication
calculation using an array.
Children will

also understand that
multiplication can be carried
out in any order
(commutative)




Topic: Multiplication

Year 2

Children will
understand what a
multiplication sentence
represents.

They will be able to
understand that 3 x 5
and 5 x3 will look
different in terms of
groups and number in
groups but will produce
the same total.

Children can use counters, cubes or any
other suitable resources to make
multiplication sentences.

Make 2 groups of 12 or 2 x 12

Children will be able to calculate
mathematical statements for
multiplication and show these using x
and = signs.

Children will use pictures or draw their
own to support understanding.

basadad
¢](5)50 e
G | muttiplied by S |-|30 D) (B ) @ D

Complele the multlpllccuon

Tjj

Ron has

b5 =130

< /£t >

Year group
objectives

Recall and use multiplication
facts for the 2, 5 and 10
multiplication

tables, including recognising
odd and even numbers

It important that
children understand
the different
calculations in an array
e.g.4x5 and 5x4 despite
the totals being the
same

Children will use concrete resources
such as counters to make arrays and
calculate the multiplication sentences
that this generates recognising that the
totals are the same.

Children can use their preferred method
of multiplication when calculating
multiplications e.g. a pupil may choose
toswap 8 x5 for 5 x 8 and use the 5
times tables as they will understand that

Children can draw an array to represent
a multiplication calculation. They can
group to show that multiplication is
commutative.

Muttplication Array 1 Array 2 it will produce the same total.
::: 9 X 3 = 3X9 =
(XIS LXT]) ::: _ _
3x8 HHH oo 12 x2 2x12
H
(11]

Calculate mathematical
statements for multiplication
and write them using the
multiplication (x) and equals

(=) signs

KS1 Example Questions

2xX7=

10 x5 =

How many bricks are there in & rows?

' 8 children are eating plums.

Each child eats 2 plums.

A wall has 5 bricks in each row,

How many plums do they eat
altogether?

Children will be able to
represent a multiplication
calculation using an array.
Children will

also understand that
multiplication can be carried
out in any order
(commutative)




Topic: Multiplication Q Y D

written methods. 7

1|
Year 3
Stem sentence Year group
There are equal groups with in each group. There are altogether. ObjECtiVES
There are lots of
The groups are equal because
hurr:]durlczidps“;ndull;;plled by - e;z:ﬁ:c,al to tens multiplied by is equal to ones multiplied by is equal to ezl e vss e s ieside
Four is double two, so fours is double twos. etc and dIVISIO.n f.acts. forthe 3, 4
and 8 multiplication tables
times fouris equaltodouble _ times two etc
Write and calculate
For every one group of , there are two groups of mathematical statements for
Not / multiplication and division
otes . . using the multiplication
Concrete Pictorial Abstract bl thot tho &
Vocabulary felolee Bt duey Loy,
including 2 digit X 1 digit,
multiplication multiply Represent multiplication as repeated—1—> o0 Show link to multiplication using mental and progressing
multiplied by multiple, addition 00 E]+C]+D+E]=D to formal written methods
repeated addition Tens Ones \ .
doubling array inverse 00 00 ()x(J=0 Solve problems, including
00 bo missing number problems,
50 . . e
Extended practical and (Q o involving multiplication and
pictorial methods looking o division, including positive
at X as repeated addition No exchange @ 604050 integer scaling problems and
and partitioning prior to . Part whole models 0 cor_respond.ence problems in
. . . Representing which n objects are
pupils tackling written () th ; to expose structure i
methods 200 e counters e i connected to m objects.
If appropriate, moving 23
._._._ ! x 3
| tgwards formal e9




Topic: Multiplication < N D

Year 3 I
Notes / L Year group
Concrete Pictorial Abstract ..
Vocabulary objectives
Deines and base 10 can | Exchanging t 1 | Use of place value grid ;[] :;:3 24 80 + 16 = 96 Recall and use multiplication
be used alongside Deins or place value counters : Z . and drawn images ) m: / \ 4 % 24 =96 and division facts for the 3, 4
pictorial methods. Hunrds I i o 2a UJ 0 e 20 4 and 8 multiplication tables
(G o _ _
Mc.)ve towards for‘mal BRI 0 D/‘ < A El 4%20=80 4x4=16 24 Write and calculate
written methods if 7 o x 3 )
. e . mathematical statements for
appropriate. & If appropriate, use 72 . o
) multiplication and division
of formal written methods L . e
using the multiplication
. L , tables that they know,
Mental strategies and Use p|ace value counters, or Bar models can be used to help solidify Children use symbols to stand for unknown including 2 digit X 1 dieit
inverse operations . . multiplication tables knowledge numbers to complete equations using inverse inciuding 2 digl 81t
. . . represent pictorially. - o operations: using mental and progressing
involving fact families. wle Wil 0% _
Part whole models to Sole  Wole to formal written methods
support L% 5 =20 Solve problems, includi
pport. L"L*’L"L*H Ix A =18 O.V(.epro ems, including
- (IxO =32 missing number problems,
Pupils to begin tackling — X involving multiplication and
correspondence and Children develop their understanding of positive integer scaling
scaling problems. correspondence and scaling problems. problems and
correspondence problems in
:;al::ngc; 2.1 ribbon that is 4 times as long as WhICh n ObjeCts are
he blue ribben connected to m objects.
*
1 Example questions: 7x3= x5=25 4 x =16




Topic: Multiplication

A

a | >

Year group
objectives

Recall multiplication and
division facts for tables up to
12 x12

Year 4
Stem sentence
The product of and
tens multiplied by is equal to
ones multiplied by is equal to
multiplied by is equal to
tens and ones multiplied by is equal to
Notes / L
Concrete Pictorial Abstract
Vocabulary
Multiplication, multiply No exchange — — Representing counters pictorially ‘ e b
multiplied by, multiple, Use of place [@o ) 000 T HIT O gle
factor groups, doubling value counters|©@©  |O 000 . - 28
. : : ©0 |0 000 "l JENE
array, inverse, remainder, | or Deins ol [
factor, factor pairs, L A L 200x3=600 10x3=30 3x3=9
product, Exchange L1319 Part whole models
6x23
commutative o, ':': Step 1: get 6 lots of 23 to expose structure
E':.";. -.:ll
=i 7
Pupils build on learning in o o, o STePZ6x3isIB.Canl Variation
. TER {§3F Make an exchange? Yes! Hundreds | Tens Ones 6bx23= o
Y3 by moving towards T *" — Ten ones for one ten... / b within fluency
multiplying 3 digit by 1 T ) 23
. . . Step 3: 6 x 2 tens and my ;
digit with exchanges %IRRT extra fen s 13 fens. Can I eg Find the product of
! make an exchange? Yes! Ten X 6 6 and 23
tens for one hundred...
e B e 138 =6x23
— i-"" :hl Step 4- what do T have in ' 3 ~ 2 1 1 —

each column?

Use place value, known and
derived facts to multiply and
divide mentally, including:
multiplying by 0 and 1;
dividing by 1; multiplying
together three numbers

Recognise and use factor
pairs and commutativity in
mental calculations

Multiply two-digit and three-
digit numbers by a one-digit
number using formal written
layout.

Solve problems involving
multiplying and adding,
including using the
distributive law to multiply
two digit numbers by one
digit, integer scaling problems
and harder correspondence
problems such as n objects
are connected to m objects.




Topic: Multiplication

£

A

>

Year 4
Notes / Concrete Pictorial Abstract Yeafr gr.oup
Vocabulary objectives

Mental strategies and
inverse operations.

Correspondence and
scaling problems

Use place value counters, or
represent pictorially.

A dressmaker has 6 buttons. He needs 3
times as many. How many does he
need?

18 is three times greater than 6.

@:°|®:°| ®:°®

What do you notice about the bar
model?

¢ |

[+]

A sunflower is 5 times taller than a daisy.
The daisy is 8 cm tall. How tall is the
sunflower?

Missing number problems

el

2 6

Recall and use multiplication
and division facts for the 3, 4
and 8 multiplication tables

Write and calculate
mathematical statements for
multiplication and division
using the multiplication
tables that they know,
including 2 digit X 1 digit,
using mental and progressing
to formal written methods

Solve problems, including
missing number problems,
involving multiplication and
positive integer scaling
problems and
correspondence problems in
which n objects are
connected to m objects.

5 s | e e X 4 )
1 i & 4 ;
= 3
Find the missing numbers.
u)22xD=88 b) _1*D=124
Example questions 2. 344
5x6= 34x1= 5x3x5= x 4




Topic: Multiplication

Year 5

i)

>

Stem sentence/ Maths talk

Explain the steps followed when using this multiplication method. Look at the numbers in each question, can they help you estimate which answer will be
the largest? Explain why there is a 9 in the thousand's column. Why do we write the larger number above the smaller number? What links can you see
between these questions? How can you use these to support your answers?

Year group
objectives

Notes /
Vocabulary

Concrete

Pictorial

Abstract

multiplication multiply
multiplied by multiple,

900 @ |\

Multiply numbers up to 4
digits by a one or two digit
number using a formal
written method, including
long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

exchanging.

) . 4
factor groups of times ®@eee & (- X |a0eo |300 | o ‘* 2 3 \ LI-
roduct once, twice, = (DY 1Y 1)
produc . | @900 ® () oo (300 [ 1 | &
three times ... ten times 2000 [ 100 | l© 3
repeated addition 0 L2 2000 | 3 Do 1o &
doubling array inverse Use place value counters to show G q L|‘2_
multiplication table exchanging.
multiplication fact \
square, squared cube,
cubed commutative
associative distributive
ang multiplication (‘{\(‘f(;\;(”1"\3 TThTh H T ©
with . Exchange below A A A + 200 300 | (o | 2
. A /‘\\ - N (/‘\:
the line. NN 2582
‘//;\\‘;’/.;\;;_’/:l7\‘}//‘.;\) 20 40200 6000 | 800 (¥ 46340 ¢ 2 1
\. 4. 4 4
* 2342
(o) <« \ [2000]| 300 | WO 2 1367
Use place value counters to show + 46840
L7132
I 9 8 2
1

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Multiplication

<6 >

Year 5
Notes / Concrete Pictorial Abstract Yea!r gr.oup
Vocabulary objectives

Use facts to multiply
mentally.

Use factors to multiply
mentally.

Use properties of
distributive rules to
multiply mentally

Use cubes or counters to explore the
meaning of ‘square numbers’.

25 is a square number because it is
made from 5 rows of 5.

Use cubes to explore cube numbers.

T o
OA@,

8 is a cube number.

Use images to explore examples and
non-examples of square numbers.

8x8=64
82 =64

12 is not a square number, because you

cannot multiply a whole number by itself

to make 12.

i ) U

if

25 x93 =29Ix20+ 15%3
= $00+15
-~ 8715

IR R
\O X6
60

L XEXS

1 g1

gO¥10 = Br7xloxr 0o
- 56)('0'-"

= 5690

36%20= 36%2x\D
2 X109
1210

Multiply numbers up to 4
digits by a one or two digit
number using a formal
written method, including
long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Multiplication

<6 >

Year 5
Notes / . . Year grou
Concrete Pictorial Abstract . & . P
Vocabulary objectives
Place value inders.are a | Use place value equipment to explore rﬂ\ 8+1=8
good way of showing and understand the exchange of 10 1000s | 100s | 10s 1= 01s | 001s Multiolv numbers up to 4
digits moving in a place | tenths, 10 hundredths or 10 ' ‘ .8 8+10=0.8 .. Py P -
value chart thousandths 0 8 - digits by a one or two digit
' ' N 0.8x1=0.8 number using a formal
=10 . . .
MUST NOT mention Represent multiplication by 10 as 0.8x10=38 written method, including

adding or taking of
zeros

exchange on a place value grid.

(0]

Hth

o)
000

OO
OO
CIOIOO)
(L1

&
OO
COI00)

Wi

0-14x10=14

long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Multiplication
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Year 5
Notes / L Year group
Concrete Pictorial Abstract ..
Vocabulary objectives
Use bar models to Notice how each section of the bars in the ‘ L spen 15 g penc ecimes s ch e el 5x 15 =£75
represent problems problem below has a value of 4 and not 1. This | Multiolv numbers up to 4
Lesley
visually many-to-one correspondence, or unitising is tep 1. o di itspby 2 ohe or tvfo digit
important and occurs early, for example in the ey nfmbe:,usin 2 formal g
context of money, where one coin has a value Step2. o1 written methgod includin
of 2p for example. It is also a useful principle in £15 as [ e as [ oo | long multi Iicati’on for twgo
the modelling of ratio problems. Hesen ne P
digit numbers
4 Step 3. 5 lots of £15 = £75
Sx£15 =£75 Multiply and divide numbers
mentally drawing upon
4114]1[4][4][4 known facts
Peter has 4 books Multiply and divide whole
Harry has five times as many books as Peter. zggsﬁéslaor:)%deamals by 10,
How many books has Harry?
Solve problems involving
five times four multiplication and division
including using their
4x5=20 knowledge of factors,
Harry has 20 books multiples, squares and cubes
Example questions 3216 1 35? _ SOIVe prObIemS inVOIVing
x 9 x 29 2x5x3= 60 x 40 = 36.05 = 10 = addition, subtraction,
multiplication and division
6x32=6x4 6x5x4=5
* e :l R ) |:| and combination of these
480=8x10x[ | including understanding the
means of the equals sign
72=2x6x| | [ Ix5<[  ]=105 7 x| || | =140 . e




Topic: Multiplication

Year 6

Notes /
Vocabulary

Concrete

Pictorial

Abstract

<6 >

When children start to
multiply 3d x 3d and 4d
x 2d etc, they should be
confident with the
abstract:

factor x factor =
product A factoris a
whole number, so this
wouldn’t be
appropriate language
when multiplying
decimals

multiplicand x
multiplier = product
multiplier x
multiplicand = product

Bar modelling and number
lines can support

learners when solving
problems with
multiplication alongside
the formal written

methods.
r E;'H =
paamat MEM TR R,
e It \L A t

Begin by multiplying the Ones with each of
the digits. Children need to be taught that
the 0 in the second row is written as a
placeholder because we are now multiplying
the Tens with each digit.

1 2 4
x 2 6
7 4 4
1 2
24 8 0
2 2 4
1 1
Answer: 3224

Year group
objectives

solve problems involving
addition, subtraction,
multiplication and division

Multiply multi-digit numbers up
to 4 digits by a two-digit whole
number using the formal written
method of long multiplication

perform mental calculations,
including with mixed operations
and large numbers




Topic: Multiplication

Year 6

Example SAT questions

Arithmetic

1.52 x 6 =

2195

< /£t >

Year group
objectives

o~

Reasoning

HEK

4
4 6
2

X
2
8

1 0

(o)
o

A pack of paper has 150 sheets.
4 children each take 7 sheets.

How many sheets of paper are left in the packet?

Show
your
method

solve problems involving
addition, subtraction,
multiplication and division

Multiply multi-digit numbers up
to 4 digits by a two-digit whole
number using the formal written
method of long multiplication

Show
your
method

perform mental calculations,
including with mixed operations
and large numbers




Early Years Year 6

Division i Division as Division within | Division within | Short division. Short division.
objects into grouping. arrays. arrays. (Up to 4 digits by | Long division (up to
groups. Division within | Division witha | Division witha | a 1 digit number). | 4 digits by a 2 digit
Division as arrays. remainder. remainder. Interpret number- interpret
grouping. Short division (2 | Short division (3 | remainders remainders as

digit by 1 digit — | digit by 1 digit— | approximately for | whole numbers,
concrete and concrete and the context). fractions or round).
pictorial). pictorial).

Short division Long division
98 = 7 becomes 432 + 5 becomes 496 + 11 becomes 432 + 15 becomes 432 + 15 becomes 432 + 15 becomes

8 6 r2 4 5 r1

8
3 5 2
5 4 3 2 1 1.4 9 6 0 15x20

2
0
2

Answer: 14 Answer: 86 remainder 2 Answer: 45 %

Answer: 28 remainder 12 Answer: 28 & Answer: 28-8




Topic: Division

<6 >

Year group
objectives

Year 1
Stem Sentence/ Maths talk apples are shared equally between hoxes. The have/have not been shared equally.
. I know this because ...
Share the apples equally between the 3 boxes. There are in each group.
There are altogether.

. . ‘ . They are shared equally between groups.
’. .. . There are in each group.

Notes / Vocabulary Concrete Pictorial Abstract

Children first explore this practically
using concrete resources

and physically sharing them into
groups. They should see that

each group will then have the same
amount. At this stage,

children do not need to write number
sentences using the

division symbol, but they should be
encouraged to explain

what is happening using the language
of division, for example

“There are counters shared equally
into groups.

There are in each group.”

Learn to make equal groups from a
whole and find how many equal groups
of a certain size can be made.

Sort a whole set people and objects
into equal groups.

I

There are 10 children aItogether.
There are 2 in each group.
There are 5 groups.

Represent a whole and work out how
many equal groups.

Children may relate this to
counting back in steps of 2, 5 or 10.

There are 10 in total.
There are 5 in each group.
There are 2 groups.

0123456789101 I12131415

solve one-step
problems involving
multiplication and
division, by calculating
the answer using
concrete objects,
pictorial
representations and
arrays with the
support of the
teacher

It may be helpful to explore the
similarities and differences

between sharing and grouping, once
children are confident

with the two structures separately.
As an extension, children can look at
situations where the

objects cannot be shared equally and
there are some left over.

Share a set of objects into equal parts
and work out how many are in each
part.

ﬁ
%@

N,
X

/_

Sketch or draw to represent sharing
into equal parts. This may be related
to fractions.

; /
B

'la i3
D, )

\(-/(/ "f ‘ °g -

ds c“L d‘:

AN
()
(ONZ

b

=~

B

L3 ™
L <

0

p ¥

Qb

g
4

10 shared into 2 equal groups gives
5 in each group.




Topic: Division
Year 2

fat
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Stem sentence/ Maths talk

| have twenty conkers and | share them equally between five

are shared equally between

children. How many conkers does each child have?

Year group
objectives

recall and use multiplication and
division facts for the 2, 5 and 10
multiplication tables, including
recognising odd and even
numbers

g g -
. Each child gets & — A S2

A s, Al
R STl R
" X5

___divided between ___ isequal to A i -

___each. Twenty conkers are shared equally between five children.
Each child gets four conkers.

Notes / Vocabulary Concrete Pictorial Abstract

Equal, sharing, whole, division.

Start with a whole and share into equal
parts, one at a time.

000000000000

9 @

12 shared equally between 2.
They get 6 each.

Start to understand how this also
relates to grouping. To share equally
between 3 people, take a group of 3
and give 1 to each person. Keep going
until all the objects have been shared

Represent the objects shared into

equal parts using a bar model.

OO
0]@)

00
0]0)

OO
0]e)

OO
©]0)

010
OO

20 shared into 5 equal parts.
There are 4 in each part.

Use a bar model to support
understanding of the division.

OC00O0O0O0000O0O0O00O0O000O0

18
L

r

)

[ |

)

18+2=9

calculate mathematical
statements for multiplication
and division within the
multiplication tables and write
them using the multiplication
(x), division (+) and equals (=)
signs

show that multiplication of 2
numbers can be done in any
order (commutative) and
division of 1 number by another
cannot

solve problems involving
multiplication and division, using
materials, arrays, repeated
addition, mental methods, and
multiplication and division facts,
including problems in contexts




Topic: Division
Year 2
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Notes / Vocabulary

Concrete

Pictorial

Abstract

Grouping, division, multiplication,
total.

Understand how to make equal groups

from a whole.

reerw800 [noeo)zé0d

8 divided into 4 equal groups.
There are 2 in each group

Understand the relationship between
grouping and the division statements.

2:3=4

XY IO XXX xxrxx)

12+4=3

XN orxoxrn

2:6=2

@ 0@ 0@ 0@ 0@ 0)® 0

12+2=6

XXX XXX xyxx)

Understand how to relate division
by grouping to repeated
subtraction.

12 divided into groups of 3.
12+3=4

There are 4 groups.

ccoc 000000000

C Y Y YN

01 2 3 4 5 6 7 8 9101 I2

There are 4 groups now.

Year group
objectives

recall and use multiplication and
division facts for the 2, 5 and 10
multiplication tables, including
recognising odd and even
numbers

Understand the relationship between

multiplication facts and division.

4 groups of 5 cars is 20 cars in total.
20 divided by 4 is 5.

3 N—

e

Link equal grouping with repeated
subtraction and known times-table
facts to support division.

40 divided by 4 is 10.

Use a bar model to support
understanding of the link between

times-table knowledge and division.

Relate times-table knowledge
directly to division.

| know that 3 groups of 10 makes
30, so | know that 30 divided by 10
is 3.

3x10=30 so 30+10=3
Ix10=10

2x10=20

3x10=30 T used the 10

4 x10 =40 times-table

5x10=50 to help me.

6 x 10 = 60 3x10=30.

7x10=70

8x10=80

calculate mathematical
statements for multiplication
and division within the
multiplication tables and write
them using the multiplication
(x), division (+) and equals (=)
signs

show that multiplication of 2
numbers can be done in any
order (commutative) and
division of 1 number by another
cannot

solve problems involving
multiplication and division, using
materials, arrays, repeated
addition, mental methods, and
multiplication and division facts,
including problems in contexts




Topic: Division

A

i g

Year group
objectives

Recall and use multiplication
and division facts for the 3, 4
and 8 multiplication tables

Year 3
Stem sentence
____ partitioned into tens and onesis ___tensand ___ ones.
___divided by is equal to
____can be partitioned into ____and ____ as these numbers are both multiples of
___dividedby ___isequalto___
There are groups of There are ___ remaining. So + = r
Notes / L
Concrete Pictorial Abstract

Vocabulary
division dividing, divide, a3z ssses g=:2 9 shared cotiei o 2 4 -k - u -4
divided by, divided into o : OEHEO g SleTeTeTole eTeleleoloe)

) Dividing as grouping , OI0OCOOI0OOOO0OOO

left, left over, remainder S @@ 0 1 5 9 13

grouping, sharing, share,
share equally one each,
two each, three each ...
ten each group in pairs,
threes ... tens equal
groups of, inverse

8 grouped into 2s
There are 4 groups of 2in 8
Dividing as sharing
8 shared between 2
There are 4 in each group

8=2-4

"

Use of Cuisenaire rods and rulers
(using repeated subtraction)

[

9123488 TEIEN RN UNNTBENN DN NS
» w0

2d divided by 1d using base 10 (no
remainders)
Sharing, starting
with the tens

Use of number lines to show repeated
subtraction

48 + 4
4tens+4=1ten
8 ones +4 =2 ones

10+2=12

Write and calculate
mathematical statements for
multiplication and division
using the multiplication
tables that they know,
including for two-digit
numbers times one-digit
numbers, using mental and
progressing to formal written
methods

Solve problems, including
missing number problems,
involving multiplication and
division, including positive
integer scaling problems and
correspondence problems in
which n objects are
connected to m objects.




Topic: Division
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Year 3
Notes . . Year grou
/ Concrete Pictorial Abstract ) & . P
Vocabulary objectives
Mental strategies and Three Lmds have 24 coins. Recall and use multiplication

inverse operations
involving fact families.
Part whole models to
support.

wemndmwabarmodd bsbwwmav\g coins ead'\ ore has.
& 1 8 [ ® |

How many coing doesmhm?

“ 3'0

:

4x5=20 5+45+5+5=20
5x4=20 4+4+4+4+4=20
20=+-5=4 20-5-5-5-5=0
20+-4=5 20-4-4-4-4-4=0
—>

and division facts for the 3, 4
and 8 multiplication tables

Write and calculate
mathematical statements for
multiplication and division
using the multiplication
tables that they know,
including for two-digit
numbers times one-digit
numbers, using mental and
progressing to formal written
methods

36 -4=
__+2=5

Example questions

There are 24 strawberries in a tub. | share
them equally between the 4 people in my
family. How many does each person get?

Write <, = or = to complete the
statements.

43 +4 45+3

OO

52+4 42+3

Solve problems, including
missing number problems,
involving multiplication and
division, including positive
integer scaling problems and
correspondence problems in
which n objects are
connected to m objects.




Topic: Division

< &[>

Year 4

Stem sentence Year group
___onesdividedby = oneseach ObjECtiVES
____lcannot share all of the tens equally, so | need to ...

There are groups of There are ____ remaining. So + = r Recall multiplication and

is a multiple of , S0 when it is divided into groups of there are none left over; there is no remainder.
is not a multiple of , so when it is divided into groups of there are some left over; there is a remainder.

division facts for tables up to
12 x 12

Use place value, known and
derived facts divide mentally,
including: dividing by 1;

Notes / . .
Concrete Pictorial Abstract
Vocabulary
division dividing, divide, Without exchanges 2 digits
divided by, divided into 000000000000 84\"
left, left over, remainder S
grouping sharing, share, 00 [0 - ~
[6]®] @ 80 | [ 4
share equally one each, o0 o C_/ \_ j
two each, three each ... 1= [+
ten each group in pairs, With exchanges 2 digits S
threes ... tens equal Use place value chart or similar to Flexible partitioning
groups of inverse o T pictorially share out.

= 42 +3
| RN OPBBO o0 s
N e SRR (42)
i — | |0] O |58
}_ | / L Bl bl O & w @ 15+6:21
- o0 0 ——O———m

30+-2=15 12=2=6

Recognise and use factor
pairs and commutativity in
mental calculations

Solve problems involving
integer scaling problems and
harder correspondence
problems such as n objects
are connected to m objects.




Topic: Division
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Year 4
Notes / . :
Vocabul Concrete Pictorial Abstract Year group
Ocabulary objectives
P.upil.s progress to. With remainders Rfapre:c,ent place value counters Recall multiplication and
dividing 3 digits with = ey 83 + 3 pictorially division facts for tables up to
i 00 0000
remainders o0 loooolo 12 x 12
00 (0000 100s | 10s | Is
O©__ |@000 o @ Use place value, known and
0— . .f:'Tm derived facts divide mentally,
3 digits O :@' including: dividing by 1;
] o | 3 with flexible Recognise and use factor
T S e partitioning pairs and commutativity in
©o o _Jeoe]| withexchanges mental calculations
o o060 100000 Solve problems involving
8 8888 88888 integer scaling problems and
o—— 0o harder correspondence
23 (23 (23 |23 |23 | 23 problems such as n objects
Mental strategies and are connected to m objects.
inverse operations
involving fact families. ? 10 100 4 40 + 4 = 144
Part whole models to [ : \
support. 30 83+3=27r2 134 -4 =33r2
95+4=23r3 365 +-6=60r5
30x4=120
1 Exam ple questions 06 = 8 — Which of these division calculations have the answer of 312 ““[:::;:':“7 It takes 7 minutes to make a
23-7 17 =5 32-6 e pom-pom. How many Complete
_ 7= e pom-poms can Malik make in 30
1+2 14+4 30:8 o minutes?




Topic: Division
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Year group
objectives

Multiply numbers up to 4
digits by a one or two digit
number using a formal
written method, including
long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Year 5
Stem sentence/ Maths talk

473=__ hundreds+ ___ tens+ 21+4

ones. 473 = 4 hundreds + 7 tens + 3 ones.

_ hundreds= __=___ hundred(s) r 4 hundreds + 3 =1 hundred r 1 hundred. V&[5 '@

hundred (s). 1 hundred + 7 tens = 17 tens ol

: hundred(s)+ __tens=____ tens 17 tens = 3=5tensr 2 tens :: : =

__tens+___ =__ temsr___ tens ‘ 2 tens + 3 ones = 23 ones )

__tens+ __ones=___ ones 23 ones + 3 = 7 ones r 2 ones Eight tens and four ones divided between four is equal to two

__ones+_ =__ onesr___ones So tens and one one.

s . - i 473+3=157r2 Each child gets twenty-ones sticks.

Notes / L
Concrete Pictorial Abstract
Vocabulary
multiply Explore grouping using place value Use place value equipment on a place Use short division for up to 4-digit
divide equipment. value grid alongside short division. numbers divided by a single digit.
column The model uses grouping.
exchange 268+2=7? A sharing model can also be used, 0O 5 5 6
place value although the model would need 713 38 3q 4
share There is 1 group of 2 hundreds. adapting. 3,892 + 7=556
T (o]
Groups There are 3 groups of 2 tens. P 00000
Short division There are 4 groups of 2 ones. 000 Use multiplication to check.
Divisor 0 T 0
Dividend 264 +2 =134 4 ggg@@ 556x7=7
: . 6x7=42
4[4 (8] X/ =
50 x 7 =350
Lay out the problem as a short division. 500 x 7 = 3500

There is 1 group of 4 in 4 tens.
There are 2 groups of 4 in 8 ones.

3,500 + 350 + 42 = 3,892

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division
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Year 5
Notes / Concrete Pictorial Abstract Yeafr gr.oup
Vocabulary objectives

Inverse operations,
multiplication, grouping
and sharing.

Use equipment to group and share and
to explore the calculations that are
present.

| have 28 counters.

I made 7 groups of 4. There are 28 in
total.

I have 28 in total. | shared them equally

into 7 groups. There are 4 in each group.

I have 28 in total. | made groups of 4.
There are 7 equal groups.

Represent multiplicative relationships
and explore the families of division facts.

60+4=15
60+15=4

(e000)(0000)(0000)(0000)(0000)
(e000)(000e)(0000)(0000)(0000)
(ec00)(0000)(0000)(0000)(0000)

Represent the different multiplicative
relationships to solve problems requiring
inverse operations.

Understand missing number problems

for division calculations and know how
to solve them using inverse operations.
22+?=2
22+2=7?

2+3=
P:+2=22 22 2
?2:22=2 Ooren AN
+3=12 [j © 2

Multiply numbers up to 4
digits by a one or two digit
number using a formal
written method, including
long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division

< /£t >

Year 5
Notes / . .
Concrete Pictorial Abstract
Vocabulary
add Use place value equipment to Represent related facts with place value equipment Reason from known facts, based
subtract represent known facts and unitising. when dividing by unitising. on understanding of unitising.
decimal Use knowledge of the inverse
tenth |suEsnssans) |junsssssnns) |sssssssans ) relationship to CheCk,
hundredth crrrrerrrry/ ereerrerrny  errererrrn
thousandth SIEIE. - S— 3,000 + 5 =600
[sessnsunss] CITITITITD CITITTITITD
multiply ansnnsansslilesnnasasas M cansnnsns) 3,000 +50 =60
divide 15 ones put into groups of 3 ones. 180 is 18 tens. 3,000 +500=6

decimal point
whole
column
exchange
place value
decimal place
digit

unitising
multiples

There are 5 groups.
15+3=5

15 tens put into groups of 3 tens. There

are 5 groups.

150+30=5

18 tens divided into groups of 3 tens. There are 6
groups.

180+30=6

12 ones divided into groups of 4. There are 3 groups.

12 hundreds divided into groups of 4 hundreds. There
are 3 groups.

1200 +400 =3

5 x 600 = 3,000
50 x 60 = 3,000
500 x 6 = 3,000

Year group
objectives

Multiply numbers up to 4
digits by a one or two digit
number using a formal
written method, including
long multiplication for two
digit numbers

Multiply and divide numbers
mentally drawing upon
known facts

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division

<6 >

Year 5
Notes / L Year group
Concrete Pictorial Abstract .

Vocabulary objectives
multiply Use place value equipment to support Use a bar model to support dividing by Understand how and why the digits
divide unitising for division. unitising. change on a place value grid when )
column dividing by 10, 100 or 1,000. Z/i';i'tt;pgz Zir::irrst‘;\f’otgigit
exchange 3,000 + 1,000 380+10=38 = & = 5 number using a formal

380

ELZC; value [ | | E] @ written method, including
Groups 212121212 1212121 } 3,200 + 100 = ? Idoinﬁ Tuur::opeleatlon for two
Short division &
Divisor 3,000 is 3 thousands. 380 is 38 tens. 3,200 is 3 thousands and 2 hundreds. Multiply and divide numbers
Dividend 38 x10 =380 - 200 +100 =2 mentally drawing upon
Partition 3 x 1,000= 3,000 10 x 38 =380 3,000 + 100 =30 known facts

So, 3,000 + 1,000 =3

So, 380 +10 =38

3,200 + 100 =32

So, the digits will move two places to
the right.

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division

<6 >

Year 5
Notes / L Year grou
Concrete Pictorial Abstract . & . P

Vocabulary objectives
add Understand division by 10 using Represent division using exchange on a Understand the movement of digits on a
subtract exchange. Use place value counters | place value grid. place value grid. Multiply nambers up to 4
?::;Lnal and place value grids. 5 0 Tho L digits by a one or two digit
hundredth — — number using a formal
thousandth % 0-85 = 10 = 0-085 written method, including
multipl ) - long multiplication for two
divid: ! 2 ones are 20 tenths. - O [ [Tth| Hth | Thth digit numbers

decimal point
whole
column
exchange
place value
decimal place
Digit

fraction
share

20 tenths divided by 10 is 2 tenths.

1-5is 1 one and 5 tenths.

This is equivalent to 10 tenths and 50
hundredths.

10 tenths divided by 10 is 1 tenth.

50 hundredths divided by 10 is 5
hundredths.

1-5 divided by 10 is 1 tenth and 5
hundredths.

1.5+10=0.15

8:5+ 100 = 0-085

Multiply and divide numbers
mentally drawing upon
known facts

O | | Tth| Hth | Thth

o]
°
Ul

Multiply and divide whole
numbers and decimals by 10,
100 and 1000

Solve problems involving
multiplication and division
including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division </ >

Year 5
Notes / . Year group
Concrete Pictorial Abstract biecti
Vocabulary objectives
division dividing, divide, | Use equipment to explore the factors of | Understand that prime numbers are Understand how to recognise prime and
divided by, divided into | a given number. numbers with exactly two factors. composite numbers. Multiply numbers up to 4
left, I?ft over, _ _ digits by a one or two digit
remzfnnder grouping ::::=::: 13+1=13 | know that 3lisa Pr!me number number using a formal
sharing, share, share 00000006 13+2=6r1 pecausg it can be ijVIded by.only 1and written method, including
equally one each, two 24+3=8 13+4=4r1 itself without leaving a remainder. long multiplication for two
each, three each ... ten 24 +8=3 digit numbers
each group in pairs, 8 and 3 are factors of 24 because they 1 and 13 are the only factors of 13. | know that 33 is not a prime number as
threes ... tens equal divide 24 exactly. 13 is a prime number. it can be divided by 1, 3, 11 and 33. Multiply and divide numbers
groups of inverse mentally drawing upon
24 + 5 = 4 remainder 4. : H known facts
sy I k:ow tTat 1f|s not a prime number, as
Seaas it has only 1 factor. Multiply and divide whole
::::. numbers and decimals by 10,
100 and 1000
5 is not a factor of 24 because there is a Solve problems involving
remainder. multiplication and division

including using their
knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division

i)

>

Year 5
Notes / L Year group
Concrete Pictorial Abstract .
Vocabulary objectives
add Understand remainders using concrete Use short division and understand In problem solving contexts, represent
subtract versions of a problem. remainders as the last remaining 1s. divisions including remainders with a bar ,
decimal model Multiply numbers up to 4
tenth 80 cakes divided into trays of 6. digits by a (_)ne or two digit
hundredth T I =t pbien number using a formal
thousandth sfe o it written method, including
multiply 80 cakes in total. They make 13 groups Hew ey grougsidftige 683 =136 x5+3 Idoinigt :uur:gg'rcsat'on for two
divide of 6, with 2 remaining. There is | group of 6 tens. 683+5=136r3 8
decimal point :':wmunyz;ops;egog Multiply and divide numbers
whole into 20 ones? , o ] mentally drawing upon
column TTELLTTELELLE 1 R I ———— TS
excha nge There are 2 ones remaining. ] .
lace value Multiply and divide whole
Zecimal lace numbers and decimals by 10,
Digit P 100 and 1000
fraction Solve problems involving
share multiplication and division
remainder including using their

knowledge of factors,
multiples, squares and cubes

Solve problems involving
addition, subtraction,
multiplication and division
and combination of these
including understanding the
means of the equals sign




Topic: Division

<6 >

Year 5
Notes / Concrete Pictorial Abstract Yea.r gr.oup

Vocabulary objectives
add Use sharing to explore the link between | Use a bar model and other fraction Use the link between division and
subtract fractions and division. representations to show the link fractions to calculate divisions. .

. . o Understanding factors and
decimal between fractions and division. .
tenth 1 whole shared between 3 people. prime numbers
hundredth Each person receives one-third. ‘ 5 Understanding inverse
thousandth Srd=g=17 operations and the link with
multiply multiplication, grouping and
divide sharing
decimal point 11 +4=—=2—

whole

column
exchange
place value
decimal place
Digit

fraction

share

Mixed number
Improper fraction
Whole number

) AT P
78 o =P =/ U/
85 Dgfh &) d S &“,
1\@“3"‘» D) Al J 3h
8 a @ <
S . H :
- - - S .
8 &% [ \ T
",;"‘ (?ﬁ',;?a\ 3 = D (t/o r\-/l
L) o O v:
N N \ a,pb A 1 =
2.0 7 @ L = @b

| +3=

w|—

Dividing whole numbers by
10, 100 and 1,000

Dividing by multiples of 10,
100 and 1,000

Dividing up to four digits by a
single digit using short
division

Understanding remainders

Dividing decimals by 10, 100
and 1,000

Understanding the
relationship between
fractions and division




Topic: Division

Year 6
Stem sentence/ Maths talk Dividend + divisor = quotient.
® + @ = 2
If | multiply the dividend by N 0y l "
must multiply the divisor by for @) + @ = 2
the quotient to stay the same. | ol

o | —

e
o)

©
+

(E\
=y
[ ]

is one-tenth the size of ___ so
____divided by ___is one tenth the
sizeof ___ divided by ___

is one-hundredth the size of
___so___dividedby ___isone
hundredth the size of ___ divided by

< /£t >

Year group
objectives

Exchange the
one hundred
for ten tens so
now we have 14
tens. How many
groups of 12 are in 14? 1 remainder 2.

Notes / L
Concrete Pictorial Abstract
Vocabulary
multiply 2844 - 2 Children to represent the Some pupils may find
- ; Lz . . 0212 ; : :
divide 0000 00 ee 24 Howmany groups of counters, pictorially and record (2545 it easier to have a list
decimal §°°° 8% & 12 thousendsdowe the subtractions beneath 12153%  of multiples alongside
decimal place (dp) i have? None ' 2‘;4 the calculation at this
ecimal place i
. P . P G| Exchange 2 thousand for 12 point.

recurring decimal 00506 (08 ® 20 hundreds Exchange the two tens for 24

’5%%% )O : e ' twenty ones so now we have 24
placeholder coes =

o880 24 ones. How many groups ) . . .
place value . of 12 are in 242 2 Expressing remainders in different
tenth 5 How many groups of ways.

4 12arein2b
hundredth hundreds? 2 groups. O 4 3
thousandth Looe. Circle them. 4 1 7 1 5 answer 43 r'3
We have grouped 24 hundreds so can take | i

pl"OdUCt them off and we are left with one. answer 43 4
fraction

043.75
417

5.0°0

solve problems involving
addition, subtraction,
multiplication and division

Divide numbers up to 4 digits by
a two-digit whole number using
the formal written method of
long division, and interpret
remainders as whole number
remainders, fractions, or by
rounding, as appropriate for the
context

perform mental calculations,
including with mixed operations
and large numbers

answer 43.73




Topic: Division
Year 6

<6 >

Example SAT questions

Arithmetic

Reasoning

One table can seat 8 people.

O—Q
L tab.e\ _chair

o= b

How many tables are needed to seat 40 people?

2 1[6 7 2

Show
your
method

Year group
objectives

solve problems involving
addition, subtraction,
multiplication and division

What is 444 minutes in hours and minutes?

Divide numbers up to 4 digits by
a two-digit whole number using
the formal written method of
long division, and interpret
remainders as whole number
remainders, fractions, or by
rounding, as appropriate for the
context

hours

minutes

perform mental calculations,
including with mixed operations
and large numbers

tables




	Home Screen
	Slide 1

	Addition
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

	Subtraction
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31

	Multiplication
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46

	Division
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64


